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ST AR NI Hied U3 UF 2018

SENIOR SECONDARY EXAMINATION,
MODEL QUESTION PAPER-2018

GEOGRAPHY
I9g: 3 "ve 15 fAfe

qurich—56

e & forv amg fAear—
GENERAL INSTRUCTIONS TO THE EXAMINEES:
. NIl gdyeE 3199 U UH UR AHIG Sfardd: fory |

Candidate must write first his\her Roll No. on the question paper compulsorily.

. T g e A 2 |

All the questions are compulsory.

. UAP YT BT TR, &1 Tg SIR—GRAD1 H B ford |

Write the answer to each question in the given answer- book only.

. 9 ueAt | oridRe @vs 8 99 9l & SN Ush A1 B ford |

For questions having more than one part, the answer to those parts are
to be written together in continuity.

ged UF & Rl 9 Ul wuRer H Bl ypR $l Jfe /3R / R 8
R 2=l 97T & Y Bl el A |

If there is any error\difference\contradiction in Hindi &English version of the
question paper, the question of Hindi version should be treated valid.



[CES] T3 A 3h gD U IR DI Ieq AT
3 1—13 1 20 s
q 14—21 2 50 TUsq
N 25—27 3 100 Rsq
Q 28—30 4 200 Rsq
Section Q.Nos. Marks per question | Word limit of answer
A 1—13 1 20
B 14—21 2 50
C 25—27 3 100
D 28—30 4 200

7. U hHIPB 22 W 24 HHERT B W GIOT 2| R USSP 2 3P BT 2 |

question Nos. 22-24 are related to map-work carrying 2 marks each.

8. fdea, YRT U4 RIoRAM & IUAS HRIY Y Y& ARSI B IR GRABT & A1
Tl N |

Attach outline maps of world, India and Rajasthan with the answer-book.

9. U hHP 29, 30 H dRed APy 2 |

There are internal choices in Question No. 29 and 30.

Gus 31
Section A
1. qWIGdIe & Yurd] b 8§ 2 (1)

Who is the originator of poisibilism ?

2. "AFE I A9 FHISH U4 eRITel & 91 Sl &I 99l ea_ 87 (1)
AHAT faaT & ?
Whose statement is it? “Human geography is the synthesized study of

relation between human societies and the relief ?

3. PRI ST | 3T R FIs & ? (1)



What do you understand by working population ?

4. == 99 e #oft (05 & &w) # aftufora =gl <1 <o & 9™ 9aRy | (1)

Write the name of any two countries that are inculded in the low human

development category (less than 0.5)
5. HEMR 6 @wed © ?

What is metropolitan city ?

6. ol IRAl B fhal DIg I AR BT foaRay |

Write any two problems of slums.

7. UgH AT § dIF—hF A fhareang affafora g 7

Which activites are included in fifth occupation ?

8. sl T Faue~oiy Al & 9™ forlRau |

Write the names of any two renewable resources.

9. YD | 3T T FHI B ?
What do you understand by recycling ?

10. URHATY] Joll STRANT B IATUAT D §g 7

When was atomic energy commission established ?

11.9Rd & &dFhd Bl fha" o feHAL § faRay ?
Write the area of India in square km.

12. TITTHAT 3T ol & &1 Sy 9arsy |

Write any two objectives of Pradhanmantri Avas yojana.

13. RIIRT H SIIUTT 4 8 & BIg &l BRSD Ia1gy |

Write any two factors which are responsible for the sex ratio in

Rajasthan.

Lx2=)
= x2=()
= x2= ()
Q
Q
)
~x2=()
~x2=()



us §

Section B

14. gIHA ST & 3N fharmerdl & FHssy | %x4=(2)
Explain economic activities of bushman tribe ?

15. R G TRT JTHOT FfYAT & Ufawd &l o 9187 | 141= 2
Draw the arrow and star pattern or rural settlement.

16. RITFIINGT BIY B FATATIAT DI | 1+1=2
Discuss critically the shifting agriculture.

17. T8} WY $e3-c I T a9y 8 2 (2)
What do you mean by cyber space internet ?

18. U3[edh Ud ATUR HETEHSIC ¥ 39 FT FHASK © ° ()
What do you understand by general agreement of trade and tariff.

19. AT YT & &I BRON BT Ui DI | ()
Explain two reasons of Acidic rain ?

20. YRA ¥ TG AT gfg & Dls IR HRY gy | | %x4=(2)

Write any four reasons for growth of urban population in India.

21. 97 AT & Agw@ @1 a9 ST | 2
Deliberation the importance of forest resources ?
22. faU U WNR & a7 9HfE | 9 958 BT g 9isy | §x4=(z)
() PICSTHT (i) BFTHIT (i) QABIARDT  (v) e
Mark the following seaports in the outline map of the world.
(i) Capetown (ii) Hong Kong (jii) Sanfransisco (iv) Parth
23. foU U YRT & g7 g § 9 dle—s1d ST Bl Bl % X4=(2

NI
() SFRIRYR (i) W (iii) faSR (iv) foemarmeeTq



Mark the following Iron and steel centres in the outline map of India.
(i) Jamshedpur (i) Salem (jii) Vijaynagar (iv) Vishakhapatnam

24. f&U T IIORAE & @1 gt § 9 8™ By <ifhd ST | %x4=(2)
(i) RAYR (i) SFTHR (iii) AR (iv) RRIE
Mark the following cities in the outline map of the Rajasthan.
(i) Bharatpur (i) Jaisalmer (jii) Nagaur (iv) Sirohi
Yus 9
Section C
25. ST gfg b & oIy DIg 3 G I | 1X3=3

Give any three suggestions to control populations growth in India ?

26. UTGlT RIS | Y 91 FHSI & ¢ 9RA H UTQiR® el Bl

NEEIEIN 1+2=3
What do you understand by regional planning ? explain regional
imbalances in India ?

27. fvq ¥ IR UARCT qrel &3 &1 AMd <M GIRA & g Big i
SEICECUNIE 1X3=3
Give any three suggestions to improve the economic condition of

nomadic grazing region of the word.

s q
Section D

28. UTSY ols< URTET & ol o § ? U] 9Rd H UIsY olle-l & g8dy
SUANT & forg gema iy | 2+2= 4

What are the advantages of pipe lines transportation give your suggestions for
the better usage of pipe line transportation in the western part of India.



29. ST ¥ | 3T I F931d & ? 9 BRI & MR W fava
SR g9cd H 3R BT IQTeXvT Ifed IHssU |
() ¥ifae (i) efdf® (iii) ATATRTS
What do you understand by population density ? on the basis of the following

factors explain the unqual distribution of population density in the world.

(i) Physical (ii) Economic (jii) social
31T

1+1X3=4

S faaRT & S99 FHed ® 7
frfaRad sR®T & MR R fawg #§ A6 faaRoT & IS0l Afgd
AHEATRY |
() erafRerfd (i) Sorarg (i) eRTT
What do you mean by population distribution ? on the basis of the following
factors explain the population distribution in the world.
(i) Location (ii) Climate (iii) Relife

30. TORATE H SW I & [Abrd B - G I | (@)
Give your suggestion in detail the development of Rajasthan dairy industry.
ST

RIS H 418 &1 gloeme & e 2q o+ g QIfoTg |

Give your suggestion in detail for the development of irrigation facility in

Rajasthan.
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JHBTNE, i 3R AMISIG AT Bl —Hd, S—alforey,
SR, S—URIRd & HWREH W B BRA Bl giaur ueH
BT B |
18. | fawa &1 Ugerm fIenel SIRTE WHsiiaT 30 MATER 1947 I 2 | 107

96 < FART 111948 W AR 1.1.1995 &I FAG I8
RIS AMUNT H1 AR Hiedl gad TR SERIGROT D
ey o |




19. | 99T FOTIH PSS ATdASS, AhRSTs IlTgsS, Ud A3ied 2 | 116
Jffrargs, onfe i uril & 1 fAaeR a9t &=al @ foraar
PH A9 07 8IaT B |
20. | (i) fRrer &1 R (i) Senfrexor (i) T RIAR (iv) uRags g %x4 2 | 138,
AR RIS (v) TRI # Tfal a1 arer 1w gfaem 139
21, | HE<T— GRIAT Bl (b, bl AHAH AR [OIR W 2 | 163,164
JBA, SR BT (B T4 ISR i’ UG | 441
ATT—TIET T
22. | A 3 (faea) i“ 2 |99
23. | #AHEH 3fhd (WRd) %“ 2 | 218
24, | AHRE 3B (ISTRAT) %“ 2 | 279
25. | (i) faarg @1 a1y ¥ gig (i) TRAR ST HRIGA (i) e &7 | 1xa=3 | 3 | 134
TR (iv) IS SITRedhdT (v) SATeT H ghg
26. | U AT 255—256 UR QU Y &.dl Fraq AN GaRT QU TY | 142 3 | 255,
quiq U9 31y 256
27. | (i) TcTardl B T8 AMUIRS YY—ARYT (ii) UY ARV DI S8 3 |66
SN BRI HIAT (iii) W a9 R 3 e awry | 1%3=3
XA |
28. | X1 AEE GH URAEH, $Holl &l 99d, FHI DI gad, YU | 242 4 | 245—24
®H, GeNa—Idoiell IATEA! H glg, IR BRG] DI RITUAT | 6
29. | STNIRAT T9@—9fd ShIg &5 H aT B dlel Afdad dl | 141x3 | 4 | 24—26
AT SHH STTHIT 9 &7F Bl AU ST Sl 2 | (i) il
PRD (i) AHINTD HRB (jii) 3Nfd RSB
3rerdT
ST faaReT § WD [daR0T UR 3i(Sdb aol [edl offdl & | 1+1x3 | 4 | 18—23
A ST Refad uel R 9o fear o € 9 e
Uiyl bl I fHA1 ST & | () R (i) STerary (i) ex1ae
30. | HEPHRI FRART & AT Ud f[9e™ N9 IRaR &l Yol al 4 | 284—28
IUALIAT Al GRART B Goll Bl IySLIT 1Al DI FSHI A 6
SIS, Sl BT A0, §3 R IMETRd STal &I ScdTad
IQI, 3% el & U3N Pl AT ST ATQ |
31erdT
Tl e R SR o1, A&l IR B Mo, de—98 g 4 | 274,275

IOl R Il AT, AR BT fharaad gard a9
BT, Ufbe 1 fAHioT |




